B & 5 F

A6 LEA 1 AICEK) U 7o P68 [ 985 AT PO B s BRI it s Rl (& T2 1 2 8K 0BT v
2 BN F 723 GRS - ROBEBIZ OV TITHRM TIE R <44 1250V T, JIROBMMERD &3

WEET D,
Plb, BMEEOE LTARE 2@ R L, SFEMREAIRIO L, 58 1@2RE7T 5,

DHI6 F118 7H

A AT WERRETEAE4% 55

A ERT BERKETILETR7%/3 75

K4 BRMGEEREXDE

R &mE Fl

E Lazmd st R



N 2

ML

il 2%

TRy « LFE - FER0 - 7T 4 LA K & A B AT & T (GRS
TR
iy 1 13, 373, 766
JE PRI 1
= 1 152, 959
T IR S i 5% 8 T
iy 1 152, 959
R AR Bk e KCE070-2 LED4T E.
& 1 152, 959 152, 959
TE I R B MEFE S 1
T % TR e e 5 T
=X 1 12,269, 173
et — A
= 1 324, 517
FERIUR & JEF M YATY7T NHT-180 (& )
& 3 15, 647 46, 941
BRI WotFV7 FL-15
1 13 3, 334 43, 342
BRIV HOE7/7° FL-20
& 3 3, 320 9, 960
BRI Wot7v7° FLR-40
il 12 3,530 42, 360
BRI #5177 FLR-110
1= 2 5, 906 11, 812
BRI HOE7V7” FHF-32
fi& 17 4,234 71,978
B B AR U TR (JIS2/) Ak 200V 6A (7
FT)
i 1 8, 729 8, 729
B 8 S o [ ] TR (JIS2H) AR 100V 3A (&
77)
& 1 9, 047 9, 047
-1- [E+22@ma s 558w




N 2

ML

il 2%

LX) - LFE - FER - sl 7T 4 LA K & A B AT #H T (GRS
EEZ)En3ire=s =97 VA T B (ET)
il 1 4, 996 4,996
EEU e e = L HBAZITE 200V 6A AU R
1= 1 6,813 6,813
EEN V3= & HAZITHA 200V 34~ A
&l 1 6, 705 6, 705
FERRAR v 7 A HAM
il 1 6, 988 6, 988
FIRE AL y=h=
e 1 3, 694 3, 694
URT A BORR B
il 16 3,197 51, 152
et b
52V 1 86, 099
RN AT 7 NHT-270LS
1 3 12,510 37, 530
TN AT 7 NHT-360LS
& 1 13, 096 13, 096
RN Y877 NHTD-110 <& dh
fi#l 46 0 0
NI FLR-40
1= 1 449. 449
TV FHP-45
fi& 16 2,189 35, 024
FiilCTe kY
= 1 4, 085, 964
e HiEh TNy
R R N
=] 23 39, 779 914,917
-2 - [E+22@ma s 558w




HoOff &K

LX) - LFE - FER - sl Hi k& AL K B A B AT & # T (GRS

e H®) (%) ATy
FEEMERE AR AT N

=] 2 57,792 115, 584
& H8) VZIAWVERVAN: 3
T HERE AR AT N

[ 1 66, 491 66, 491
e ® (%) FAM Y - YT
FEEMERE L IRATE N

[5] 1 92,235 92, 235
i HB) FANY
EARMER HARPTE N

=] 22 39, 779 875, 138
e ® (/M) ATy
MR HIRITE N

[5] 3 57,792 173, 376
A& Hi ) ZATNWERVAN: A
EARMERE HARFTAE N

[=] 4 66, 491 265, 964
HiEmE) (KH) ZIAVER VAN A
ERMERE HIRITE N

2 92,235 184, 470
& By FAINY
B2 HH HERF AR AT N

[l 27 39, 779 1,074, 033
wEHE) (&) ATy
EX [ HERE AR AT N

1 57,792 57, 792
HiAE HiB) FAMN Y - YT
B R N

=] 4 66, 491 265, 964

BiHb RS

= 1 1,648, 821
B 2IRF B F i

[=] 41 17,729 726, 889
HLHESE (R ) QR IR

[ 6 26, 594 159, 564
B AT [HIFR S

[=] 20 35, 459 709, 180

-3 - [t acimas s B )




HoOff &K

TRy « LFE - FER0 - 7T 4 BUOEN K% & A B AT & M T (GRS
B (&) AIRE RIS
=] 1 53, 188 53, 188
BSEIE
= 1 2,421, 744
AR RE ] 2N
AR R T N
=] 6 36, 700 220, 200
— K Bl (R D AN
LR HARPTAE N
=] 6 96, 359 578, 154
AR RE ] TV
MR HIRITE N
6 36, 700 220, 200
R E] () TNV
EARHER HARFTAE N
[=] 6 110, 541 663, 246
AWK ] 2
B R BRI N
6 26, 965 161, 790
R R K B (4 [H)) TNV
B2 HH HERF AR AT N
[=] 6 96, 359 578, 154
bt TR H B8 BySHn
= 1 3,702, 028
b AW HE A 2 HL 3 4R T HA 82/
) A2 el
[=] 1 142, 697 142, 697
b2V IR HH B8 B JTEEH : 965
EREENANV T Y
[A] 1 167, 033 167, 033
b4V HR B g HL i L BB 2006
TR o IR b AN
] 1 347, 946 347, 946
AV BAZR BE R ITEE% - 3025
W o T b (TR D)
Al 1 702, 539 702, 539
b A0V IR B B8 HL R T EA 205
=V NZ
[=] 1 34, 794 34, 794

-4 - [t acimas s B )




N/

ML

il 2%

TRy « LFE - FER0 - 7T 4 LA K & A B AT & M T (GRS

bR HE B 2 L3 A fTHE : 68A
PEFn L by v (S D)

=] 1 158, 237 158, 237
b A BE R 25 B R ITEE% : 2006
B AINZ A )

[F] 1 347, 946 347, 946
b A R BA 2 L R KT HAH 198/
FAL N AVTF Y

=] 1 344, 525 344, 525
AN ER A 2R B ITEA% : 965
TSN A ]

=] 1 167, 033 167, 033
bV IR B B8 LT ITHAH : 54H
1 EbAVED

1 93, 945 93,945
b AW 2R BV I BAE - 4025

AEhsv

=] 1 699, 412 699, 412
bV IR A 2R B R ITEA% : 2085
REIWAVT Y

1 361, 923 361,923
bR HE IR 2 EL Y AR WTHEE TR
EFRLRE b A

[=] 1 133, 998 133,998

IR L
= 1 951, 634
RIEEIT

= 1 951, 634
2RI i B A 1A

= 1 184, 138
R EAER B A 2N

(#218))

v 1 50, 198
AR E i BB 33 A

= 1 464, 157
R BB 12N
(2 1E))

iy 1 253, 141

-5 - [+l T s i)y




HoOff &K

LX) - LFE - FER - sl Hi k& AL K B A B AT & # T (GRS
[ERF NS =g
X 1 13, 373, 766
R IR
= 1 2,391, 390
i R
K 1 60, 343
e E Aty
= 1 60, 343
T B e AT I VERCE
2V 1 60, 343
LimaR#E (FEF L)
= 1 2,331, 047
Wi
2V 1 15, 765, 156
B
= 1 8, 694, 759
TR
= 1 24, 459, 915
— R P
= 1 4,920, 085
TS
= 1 29, 380, 000
TH B BIAR 2 %8
X 1 2,938, 000
T
= 1 32, 318, 000

-6 - [t acimas s B )






